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anﬂ (1) (a) J'e”*“ﬂdn?

b (L= gy
X

20 % @ Find every local maximum or minimum %) tﬁe?ﬁfﬁnﬁinﬁ Exﬁhﬁns:
(2) 3x'-8x'-18x" +12
(b)) vx-]

3*’% (3) Let E(IJ=fof’x)dx,fDr fr’x)=;1ireq"h, 4120, please find

Efx/x2Efx))=7?

20 Z (4) If given e’ =x+c, where c21, then answer the following;
(a) Whether x has a solution?

(b) How do you find the solution for x?
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LSS LASE
. (15%) Let X, X2,..., X, denote a random sample frum a dlstnhutmn that 1s N(0,8).

(a) Show that Y =3 X? is a sufficient statistic for #. (5%)
(b) Find the best estimator of §2. {10%)

2. (20%) Given f(z |8) =e5/8, >0, 7(#) =08, 1 <0 <3, and L(0,a) = (a - 8)?,

(a) calculate R(0,d) for di(2) = X, and d3(z) = X — 1, and determine which is the
minimax estimalor with respect to these two estimators (10%),

(b) calculate the Bayes solution with respect to these two estimators (10%).

3. (20%) Trinomial distribution is given by

1.

T _y}!p;pgpg_*—l', u ﬂ}-’i E j".' "M +P2 +P3 = I1| '-E"F'y‘_:. 1

Hzy) = xlyl(n

(a) Prove or disprove that X and Y are stochastically dependent. {10 %)

{b} find the probability densily function of ¥ given X = 5 and the conditional mean
and variance if n = 10, p; = 0.1, p; = 0.2. (10 %)



(9 G) 'Aym pue asn o garjsrye]s
1899 ayeridoadde auy s yeym ‘pogr Aes ‘gz ey)y slour si vzis spdures a1) uaypp (o)
(% 01) "seaneuraje e jsurede
70 = Fdgrg = W'g = 'd : Oy Funsey Jo} 489y olyer pooyiexi &) no puy (q)
(% G) "worjouny poorIayI] SI[) UMOP &)i1m (e)

uay[} ‘spery (g 91y jnoydnoity yueysuod st (10)4 = M J1 )t 1) sjuaaa sarjsneyxo
pue salsnoxa AJ[en)nuwi aff) ul spud juAUMIAdXa Sy} Jel) SIUIM} Jo sIaqUinu sarydads
21 91} are Ex'trilr qey) yons aq juswiradxe ue jo srenny yuapuadapur g 197 (%0z) 9

aputod g Jo s 4T 2} pue sajeuinysa (g()) 2renbs jsea| Lreurpio sy ety
utejdxa ' < o ‘Yf-,0 X[IJEW BOURLIRAOD PUR () WEIUT {[}Im UOCNGLISIP [RULIOU € §ei]

DtEgx =4
yeryy uoryduwinsse ay 1wpup (%071) G

Aﬁ (1) Ty =Fe e auIr) aJIf 2inyny pajoadxa s nosiad painsur siy) ajeurrgsa (q)
(% ¢) 0%
offe v s1eak OM) UM SIP [[IM uosiad painsur sy yei) Lyipepeqoad aygy ayejnopens (v)

1+ T+1

T+ )

0 < 1A'l
Aq UaAld 81 34X
afe urejje [[im X afe e pamsur uosiad v jeyy Ly1iqeqoid reuoryipuos ayy 19 (%S1) ¥

BOEWE vyt HE

® ‘3da(q

fonasInony | 4 -7 4 | poliag E SSE[D) | W) | u_mL,
N. ‘are(] _.ﬂv.m_..l._ ._.M \lw PxMMW@
Bwwy| a LT W LV ¢ B J%.NW.. WE RN e &+




"apew jou sem Axjus Bursasasy (7)

‘apew sem Axjua Bursasasy (1)

ruoTjdunsse ButmoTToj =yl o3

burpacooe Te6T 'T yoae x03 Axjus Teuanol ayji siedsig
($0T) :paaTnbay

"TE Iequaded BT DHY JO pus

Tead TedsSTF 3yl ~23BI JUNOISTP 39T pabieyn >ueq syl -ISTqeaTaDal
230N 8yl pajuncosTp Auedwo) TTVY ‘T66T ‘T yoxew up - redioutad

8yl woij Afejexedss pesje]s ST 1S8I9UT BYJ PUE S3BI 3saI3JUT

%01 saesq s30U BYL ~S[gEATSI8I JUNODIY OO0 '0ZTS 20eTdai 03 (66T
‘T "D3g U0 ITEAT3ID3I 830N Yjuow-xX1s v paatsosx Auedwo) TTY °F

ebexaay pajuybism (7)

0417 (T)

:gpoyjaw Axojusaur Buimoriold a8yl Butsn Aq T¢

I8qo3o0 uo AIoJUsSAUT burtpus syl Jo anTea a3yl ajndwo)d
(%0T) :paxtnbay

"T@3FAS AIOjUsAuUl [ePnjedisd & SasSnN XITH SWNSsy

1) DE I=2gCiog
00S ¥ Iaquaijdssg
0s z ATnr
009 g7 =aunp
o0& z AelW
PTI0S 83TUn S o T SRS

EMOTTO3F 2e 3Ie STRUTWIS] sy3 I0I BlEp SaTes

"aTun aad ZIT$ 3O 3800 8Y3l I8 STEUTWIS] JO SITUN QOZ'T ISYJOUE
peseynand wxtl 8yl ‘6T Asnbny up LT Trady uc Jtun xad G

JO 3s0o> 8yl Je Teutwisl Jo sIATun 000'T peseyoand Auedwod pg 7

¢ (don) PoyiIsW IndinQ-Jo-s3TUf ISA0 (HAA) POYISW

@oueTed-buturTosg-sTqnog Jo sbejueape syl st Jeyum - aeal
I83ITJ 8yl I03J XB]3 I23Je MOTI Ysed ayl Jo uostaedwo)d ()

¢ (8ad) poyisw souerteg-burturioag-aTgnog Iaao

(don) poyasu Iandanp-jo-s3atun Jo abejueape syl ST UM
"aead 38113 8yl I07 Xej I93Je AWOOUT 38U Jo uostxedwoly (T)
(3271) ‘paatnbay

"%0% ST 8321 XEJ S3WodUT

YL -Iead 381TJ ,S¥onil syl IOJ 000 '08S ST Xe3 JWODUT 2a1ojaq
suoTjexsdo Aq pspraocad ysed swnssy ‘8aIesA z IxXsu syj jo yoes

Ul S3TTW Q00 'S8T PU®R BIESA ¥ ISITI 9yl JO ysea ul SarTIw Q0o 'sT

8q 0] peloadxe ST sbeafTw [enuuR PaUTQWOD ,8XONIY 8YL °000°'9S

Jo anfea TenprEal e saey pue siesd 9 I0J 80TAISS Ul uTewaIx TTIm
8)oni3 sy3j Jjeyl sajewriss Auedwoo 8yl 000'8FS JO S3s0D Te303

B Je 8)onily pasn ¢ peseydand ‘-ourl ‘esiol ‘T¥sT ‘'z Arenuep ug I

H @ &P T B

FON 251007 dg & | poriag

*31B(] \m&,@m_%\w\ %mw.ﬂuwm WMA \#\MN. fmqu.m asinor

Wy o b ke <] ¥ e B+¥




-gg6T 103 oxeys aad sbButuzes ajndwod
. (35) : paxTnbay

"00%'TS JO SPUSPTATR UOUMOD pue

00L% JO spusptalp paxasgead pred pue paieidep DEN '000 'BES Sem
9E6T 103 SwWOdUT 38N  "966T ‘T I2quaidas uo UCWWOD IO S3IBUS 000’9
pue 96T 'T TTIAY UO uUCWWoD JO SaIeys 000't PSNSST Aeyl 9661 'T
Azenuep uo Burpueisino 30ols UDWWOD FO saIeys 000'ST PEYU DEN 79

T JeWwIo]
degs-a7dratnu Bursn 'I66T I0JF JUSWE]L]S SWODUI §,PUBTIIAQ azedaad
(50T) :paatnbay

‘000 '6ES
03 sJjunowe ‘TE6T 'If Iequedad e AIOJUSAUT 5, PUBTIBAQD

poo‘st " *+ (But3jeaado-uoN) @suadxyg 3s8183UT
000 ‘09 ' RS s »+ (But3easdp) @ssusdxy S3TIBTES
goo'e U <+ -+ (but3eaadp) ssusdxyg S°T3ATTTIN
ooo's 0ttt (Butjeaado) esuadxg uorierosidsd
DDmnm ---------- E &8 B = = m = = § s = = -GHl:DH“—M“HGQmﬁHMHHH
000 q.mﬁ.m.n ......................... Pos e oaon e saseysand
GED hmgm --------------------- 4 & ® @4 = @ w ®w ® & § ® i = m.mlﬁmm_
Gﬁ_._“____m.ﬂ ............. A e L mﬂ._n._s.,m.u_u_ hmuﬂm.._...Hm.uwD et
gostel 0 wremteees T Azenuep ‘feitdesy ‘pueTIsAD 'd
000 D€ RS e i Gl T c+ 7 Axenuep ‘Azojusaul

TE6T 'TIf Isquaseg e bupmaoTTol 3yl SUTBjUCD
Auedwo) S8TES pueTisaQ I0J soueTeq Terxl paisnfpe Teraxed syl s

‘0g aunp se Auedwo) ziequaTsd I0J UOTIBTTIOUCDaI ueq e aiedsad
(%0T) : pexTnbay

gLz 'TY Se spIOCDaa
Junoooe §,aAIeqUaTsH UT pPepIocssx Arsnosuciis Ing 05°'1s IO
Junowe 8Yy3j Ul us33TIm Ar3joexxcoo 'juswdinba adT3jo Jo yiaom
605°'TS Jo juswdAed uy penssT '08F "OU 3OSUD 8,IIRqUSTD "I

o "dSN. uoTielou

3yl YITM peuInisx pue jueq syl Ag JUNODOE S,IIBqUITD
wox3 peajonpep Ing ’‘Iswoisnd e Ag umelp (Q8S$ IOJ YDBUD ¥ '8
‘PRATOAUT 388123ul ON - unco2e s§,Auedwod 03
pelTpelD pue pa3los[Io0 uaeq pey eyl uoTIDSTIOD I0JF ueq
yats Auedwop zxequaTd Aq 33eT QL1I’'8S I0F S[eATaDsI 830U ¥
"£T5 ‘jueq Aq sbieyd soTaAxS§
"009'ETS Te3I03 Ul s)dayd burtpuelsIing
"005'8% ‘0f sunp 3je JTsuexl ut jrsodsg

.0 U

=3Il
UOTJBPWIOJUT TEUOTITPPY ~"6E£S'LES JO 8DUBTEq B pPSMOys Juswajels
jyueq of aunp a8yl °"s60°‘szs sem Auedwo) zaequsToH JO BMoog 2}Y] O3

mnﬂHDUUMunﬂbuum5mmm:umﬂmuanmnmnu.amma.nmmnﬂhud,w
Whﬁ&%ﬂﬁa_

FON3sINony | dg % | poriag . $SB[ 1) asino-
‘31B(] g@*v 5 “3daQ] \Wmvn P\W.@\ 4
wWwww e W w8 WY b i | B




(zaseyaand)
ZzAi¥ I0J SUOTIoESURI] 2EIY] PIOISI O §ITAUS Teuanol sxedsiq (Z)
‘(191 108)
qoM 103 SuoTjpesuell 888yl pPIODSI 07 SITIUS teuancl saxedsagd (1)
5d asn saTurdwod Ylo0q SWNSSY
(38T) ‘paITnbay

‘asTpuUuByDIsW JO gaseyoand syl piooax 01 POYIsSW J8U
sesn ZAY ~9STpueysisw Jo S3TES pIodsI O3 ol S50Ib 28N TTDM

‘g Isusnon
uo uinjsx sseyoand syl burmolTe I9313E ‘oM 03 DPaMo
qunowe bBututewsi syl potied JUNODSTP SYI UTHITA pred ZAX 6 “AON

‘gantad aTes
syl o3 Tenba 80uUBMOTTE uIn3lsx a8yl aseb oM ‘107100 buoam
sram A2yl osneosaq sIsjeams JO SITUN 00T PIUINISL ZAX ¥ ‘AON

-xajeams aad 058 ST ZAX ©3 aotad ares syl ‘3Itun

zad zg4 TOM 1S0D pEY SI8jesMB SSSUL ‘pg/u '0T/T 'swasy
'quUNoDDE UC ZAX O3 Siajeams uojjoo Jo s3tun 000'T PTOS T "“AON
:butmo1TOol
ayl exe ssTuedwod oMl Y U3BMIBY guoTioesueil ayl buowy
‘ZE¥ 03 JUNODDOE uc ISTpuUERydIsl gT779s8 ATieTnbax Aueduwco oM 8

("pextnbai ST uotjeueTdxd) fuoTaTsod TeETOUBUTI] I2333(
® moys ©3 sjuem Jd¥ IT puUsuwooax noA TTTM SATIEUIS8ITE UOTUM (€]
‘pesn ST 7z 2ATlRUIS]TE JT DHEY 103 1@8ys soueled S66T axedaxd (z)
‘pasn ST T SATiRPUISITE 3T ogY I03J ae9ays soueieq S661 sierdazd (1)
(36T) :paatnbay

'GEET 103 SUOTIDESUERA] IBYJ0 OU SUNSSY

'DEY ©3 (08%) pung STY] ISSAUTSI
pue Mueq 3yl woij 085 moII0q O3 AaTque xey3lo 2801 ¥ SATIRUISITY
‘yueq 8yl woxj
pgs moxxog oa Ajrius Hurmoaxoq Syj SE ogy 980 T SATIRUIalTY
:yseo pgg peatnbax syl =8TEI
03 ssaTlPUIS]}TE OM] ButMOoTTOoF 8yl ButaspTsuod ST Auedwod UL
‘Q8% I0J Ysed spIsu Aueduoo aya ‘uwerd §66T 3yl o3 butpaoday

Lo}d 2 ‘g0 pue 'qerl Telol
k4 KA3tnba s,asumQ
00Z$% - RaTTTgeTl

I4%] sj@s88e [e30L
00E gqsgse IaUlo
0Z1% ysed
66T 'TE "R=20
q@9ls aoueted
Auedwol DEY
:gmOTT03 Se€ ST 66T Isquaded I0F 3I83YS SdUBTE( s, Auedwod DEY L
mmhw_ﬁ.ﬂ‘«mmﬁﬁ.ﬂ_ﬂ

BWwwnn K e o | wwa

‘ON 64m00), g #| pou | omn
| "o BRS¢ LB S| 7
|
|




T W% £

. T A a4 M % 5|
/%ET .,I"LIZ) Dept. & _j/%?ﬁ" Date,
Course ® | ¥ | Class | 257 || Perid | % i |Course No.

BlaendkTtTRHER
9. Acer purchased 40% of the voting stock of TI on January 1,

1991. During 1991, TI paid $5,000 in dividends and had net
income of $43,000. During 1992, TI paid $6,000 in dividends and
had net income of 552,000. The balance of the Investment on TI
account in Acer's balance sheet at the end of 1992 was 563, B800.

Required: (10%)
Compute the amount of Acer paid for the TI stock in 1991.
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5. (10 points) In 1960 the citizens of the United Kingdom had a per
capita income four times that of the average citizen of Singapore. By

1990 the average citizens of the two countries had about the same levels E}
of income. how can you explain that in terms of the growth model? &
hi2d
6. A political party wins the presidency and the majority of congress f_j
with the message "no more defense spending”. 2
a. (18 points) If people do not believe the new government will keep its | |
promise, but defense spending is actually eliminated, what will happen in|
this economy in the short and long run? Use the ADI/PA model in your [#

answer and analyze all relevant econcmic variables. {ADI represents Aggregate
Demand / Inflation and PA represents Price Adjustment.)

b. (6 points) How would your answer change if people do believe the
government is going to cut defense spending and adjust their price

expectations immediately?

7. (19 points) The United States is currently enforcing a trade embargo
on Cuba. Using the long-run shares of GDP model, analyze the effect of
lifting the embargo on the Cuban economy.
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